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puLAUUGLL DUuuGN 2065532,9| 2065532,9| 671340,8| 919075,7| 475 116,4
wjn pyntd
LUuBUSHhY SUUGN 1967 326,9 1967 326,9] 666 390,8| 881879,7| 419 056,4
wjn pynLd
nGSULYUL UuNPuUhuvutNh, "NPULS GuUUU 1375381,7| 1375381,7| 475072,0| 604 085,8| 296 223,9
A3NtRGSU3PL <hULUNYLENP UCluuSNTLENh
uchuusudunNa
wjn pyntd
- hwwnniy bwwuwnwywihb $nlntphg tipynn ywpglwwnpnid 33377,3 33377,3 0,0 33377,3 0,0
- pwnuwpwghwwb dwewinnbtph wywpglwwnpdwb $nln 92 460,3 92 460,3 322225 40145,6] 20092,2
QUBUShY SPULUDENSLEN 234 3379 2343379 83241,6| 98893,9| 522024
wjn pyntd
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 234 337,9 234 337,9 83241,6| 98893,9| 522024
wjn pyntd
- ywnuwnhp unghwjwywb wwwhndwannipjwb y&wnbbp 234 184,6 234 184,6 83241,6| 98740,6|/ 522024
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpotn 153,3 153,3 0,0 153,3 0,0
umnPruuvLeLGEMh ALUUL G4 ounu3nt@3NtuueNrh 357 607,3 357 607,3| 108 077,2| 178 900,0( 70630,1
Jysunruuu oukuuenN
wjn pyntd
Uwpwbplbbph d6rppbpnid 26 365,6 26 365,6 9233,1( 10100,0 7 032,5
wjn pyntd
Qnyp, gnuubljuywiht wwpwbpbtp L Gnuetp 24 979,6 24 979,6 9233,1 8714,0 7032,5
wjn pynd
- gnwutluwywiho wwnwbpbbp L Ginepbp 21 979,6 21979,6 9233,1 5714,0 70325
- thwhniy gnuyp b hwGntpdwbp 3000,0 3000,0 0,0 3000,0 0,0
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1 2 3 4 5

Uy, Swfuukin 1386,0 1.386,0 0,0 1386,0 0,0
Qnpéninniibbn L Swrwnnuywb ninlnpnipintbbbn 49 802,2 49 802,2 6500,0( 38802,2 4 500,0
Spwluwnpuwihb SwewntpnLGbEph y&wnbbp 80 400,0 80 400,0 19200,0| 42000,0f 19200,0
Ywuwh Swewjnipntb0tph y&wnotbn 91 092,3 91 092,3 44 500,01 26517,9| 200744
Undntbw) swrwjnipintGbeph &wnbtn 57 299,7 57 299,7 25 1441 24 182,4 7 973,2
wjn pyntd

ElGYunpwtbnpghwih, Jwrbihph L 9brnigdwl dwiuubn 51557,9 51557,9 24012,4] 198223 7723,2
2nantn- Ynninneg oginybint Jwndh yAwnowb swfuubn 1591,0 1591,0 596,2 7448 250,0
Wi yndntGwy 6wfuubin 4150,8 4150,8 535,5 36153 0,0
Uj| Swfuubn 52 647,5 52 647,5 3500,0f 37297,5| 11850,0
wjn pyntd

Qnph Jupdwywnipwb dwiuubp 87449 87449 0,0 77449 1 .000,0
wjn pynd

- 260pGnh, 2n0nLpNLGOBPH L pGwywnwGGBph 87449 87449 0,0 77449 1 000,0
Jwpdwywintpjwb wiuubkn

Lbpywjwgnigswlywb dwiuubn 4500,0 4500,0 1500,0 1500,0 1500,0
Uy, Swrewjntpintbbeph dGrppbndwl dwiuutkn 39 402,6 39 402,6 2000,0 28052,6 9 350,0
LunhsulL cuuer 98 206,0 98 206,0 4950,01 37196,0 56 060,0
wjn pynLd

yunhsul veNANPNFULENHh SUlUGN 98 206,0 98 206,0 4950,01 37196,0 56 060,0
wyn pyntd

LUuNhSUL U4sShyuGNh 6NLAGNUUL CUUGH 98 206,0 98 206,0 4950,01 37196,0 56 060,0
wjn pyntd

Uwnptph L uwppwynpniibbph d6rpptpdwl swiuubp 85 206,0 85 206,0 4950,01 37196,0 43060,0
Spwluwnpunuwihb thonglbbph dGrpptndwl dwiuubn 13 000,0 13 000,0 0,0 0,0 13000,0
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puLAUUGLL DUuuGN 99 074,8 69 000,0 69 000,0| 4804,8 4804,8| 25270,0 25270,0
wjn pyntd
LUuBUSHhY SUUGN 40 074,8 10 000,0 10 000,0( 4804,8 4804,8| 25270,0 25270,0
wyn pyntd
untruhNhuutP 4804,8 0,0 0,0| 48048 4804,8 0,0 0,0
wyn pyntd
QtrGwnynipyntbbtnphb L Yugdwybpwnieyntbbtphb uvnpdnn 4 .804,8 0,0 0,0 4804,8 4804,8 0,0 0,0
untpuhnhwlbn
unPruuvLeLGEMNh ALUUL G4 ounu3nt@3NtuueNrh 35270,0 10 000,0 10 000,0 0,0 0,0( 25270,0 25270,0
Jysunruuu oukuuenN
wjn pynd
Uy, Swfuukn 35270,0 10 000,0 10 000,0 0,0 0,0 25270,0 25270,0
wjn pyntd
Uj| SwrwnipntGbbph dbrppbndwl wiuubp 35270,0 10 000,0 10 000,0 0,0 0,0 25270,0 25 270,0
LunhsulL cuuer 59 000,0 59 000,0 59 000,0 0,0 0,0 0,0 0,0
wjn pyntd
yunhsulL veNPANPNFULENHh SUbUGN 59 000,0 59 000,0 59 000,0 0,0 0,0 0,0 0,0
wjn pyntd
GNPuPURULULGSUNF2UYWUL DUuuGN 59 000,0 59 000,0 59 000,0 0,0 0,0 0,0 0,0
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puAUUGLL DUuUGN 994 983,3| 516 910,0/ 1910,0{ 515000,0| 100 000,0 100 000,0 30 000,0 30 000,0
wyn pynLd
LUuBUSHhY SUUGN 20 000,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
QUBUShY SPULUDENSLEN 20 000,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 20 000,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpokn 20 000,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LunhsulL cuuer 974 983,3| 516 910,0/ 1910,0{ 515000,0| 100 000,0 100 000,0 30 000,0 30 000,0
wjn pyntd
yunhsul veNaANPNFULENHh SUlUGN 974 983,3| 516 910,0/ 1910,0{ 515000,0{ 100 000,0 100 000,0 30 000,0 30 000,0
wjn pyntd
Luluadudcsuansuyuu oukuueN 974 983,3| 516 910,0/ 1910,0{ 515000,0| 100 000,0 100 000,0 30 000,0 30 000,0
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puAUUGLL DUuUGN 301073,3 301 073,3| 20000,0 20 000,0| 27 000,0 27 000,0
wyn pynLd
LUuBUSHhY SUUGN 0,0 0,0( 20000,0 20 000,0 0,0 0,0
wjn pyntd
QUBUShY SPULUDENSLEN 0,0 0,0 20000,0 20 000,0 0,0 0,0
wjn pyntd
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 0,0 0,0( 20000,0 20 000,0 0,0 0,0
wjn pyntd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpokn 0,0 0,0 20000,0 20 000,0 0,0 0,0
LunhsulL cuuer 301073,3 301073,3 0,0 0,0| 27 000,0 27 000,0
wjn pyntd
yunhsul veNaANPNFULENHh SUlUGN 301 073,3 301 073,3 0,0 0,0| 27 000,0 27 000,0
wjn pyntd
Luluadudcsuansuyuu oukuueN 301073,3 301073,3 0,0 0,0| 27 000,0 27 000,0
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e 23 e 23
[« 8 [« 8 [« 8 [« 8
1 3 5 7 9
puAUUGBLL DUuUGN 519 666,4| 15 000,0 15000,0| 23 450,0 23450,01 417344 417344 166 407,0 166 407,0
wyn pynLd
LUuBUSHhY SUUGN 462 751,4 0,0 0,0 0,0 0,0 417344 417344 166 407,0 166 407,0
wjn pyntd
QUBUShY SPULUDENSLEN 401 638,0 0,0 0,0 0,0 0,0 0,0 0,0 166 407,0 166 407,0
wjn pynd
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 401 638,0 0,0 0,0 0,0 0,0 0,0 0,0 166 407,0 166 407,0
wjn pynLd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpokn 401 638,0 0,0 0,0 0,0 0,0 0,0 0,0 166 407,0 166 407,0
umnPruuvLeLGEMh ALUUL G4 ounu3nt@3NtuueNrh 61113,4 0,0 0,0 0,0 0,0 417344 417344 0,0 0,0
Jysunruuu oukuuenN
wjn pynd
Uwpwbplbbph d6rppbpnid 300,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Qnyp, gpuubljuywiht wwpwbpbtp L Gnuetp 140,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynd
- gnijp L uwppwynpniiltn 140,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uj| Swfuubn 160,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uy, Swfuukn 60 813,4 0,0 0,0 0,0 0,0 417344 417344 0,0 0,0
wjn pynd
Uj| SwrwntpntGbbph dbrppbndwl dwiuubp 60 8134 0,0 0,0 0,0 0,0 417344 417344 0,0 0,0
LunhsulL cuuer 56 915,0( 15 000,0 15000,0| 23450,0 23 450,0 0,0 0,0 0,0 0,0
wjn pyntd
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1 2 3 4 5 8 9

yunhsul veNANPNFULENHh SUuUGN 39451,0 450,0 450,0 23 450,0 23 450,0 0,0 0,0 0,0 0,0
wjn pynLd

Luluadu{csuansuyuu oukuueN 25986,0 450,0 450,01 23450,0 23 450,0 0,0 0,0 0,0 0,0
LUUNhSUL U4sShyuGNh 26NLAGNUUL CUUGH 13 465,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wyn pyntd

Uuwnptph L uwppwynpniibtph dGrpptndwb dwiuubp 2125,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Spwluwnpuwihb dhongltph dbrpptndwl swiuubp 9 000,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uj wywinhylbkinph dGrppbpdwl dwiuubkn 2 340,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
yunhsuL vNnrNantuusNrh cuklbuGN 17 464,0] 14 550,0 14 550,0 0,0 0,0 0,0 0,0 0,0 0,0
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a 55 a 55 a 55

S S S
[« 8 [« 8 [« 8

10 11 12 13 14 15
puAUUGBLL DUuUGN 729255 729255 65617,0 65617,0 24 841,0 248410
wyn pyntd
LUuBUSHhY SUUGN 729255 729255 65617,0 65617,0 248410 248410
wjn pyntd
QUBUShY SPULUDENSLEN 729255 729255 65617,0 65617,0 24 841,0 24 841,0
wyn pyntd
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 729255 729255 65617,0 65617,0 248410 248410
wyn pyntd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpokn 72 925,5 72 925,5 65 617,0 65 617,0 24 841,0 24 841,0
umnPruuvLeLGEMh ALUUL G4 ounu3nt@3NtuueNrh 0,0 0,0 0,0 0,0 0,0 0,0
Jysunruuu oukuuenN
wyn pyntd
Uwnwbplbbph dGrppbpnid 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Qnyp, gpuubljuywiht wwpwbpbtp L Gnuetp 0,0 0,0 0,0 0,0 0,0 0,0
wyn pyntd
- gnijp L uwppwynpniiltn 0,0 0,0 0,0 0,0 0,0 0,0
Uj| Swfuubn 0,0 0,0 0,0 0,0 0,0 0,0
Uy, Swfuukn 0,0 0,0 0,0 0,0 0,0 0,0
wyn pyntd
Uj| SwrwntpntGbbph dbrppbndwl dwiuubp 0,0 0,0 0,0 0,0 0,0 0,0
LunhsulL cuuer 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
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10 11 12 13 14 15

yunhsul veNANPNFULENHh SUuUGN 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd

Luluadu{csuansuyuu oukuueN 0,0 0,0 0,0 0,0 0,0 0,0
LUUNhSUL U4sShyuGNh 26NLAGNUUL CUUGH 0,0 0,0 0,0 0,0 0,0 0,0
wyn pyntd

Uuwnptph L uwppwynpniibtph dGrpptndwb dwiuubp 0,0 0,0 0,0 0,0 0,0 0,0
Spwluwnpuwihb dhongltph dbrpptndwl swiuubp 0,0 0,0 0,0 0,0 0,0 0,0
Uj wywinhylbkinph dGrppbpdwl dwiuubkn 0,0 0,0 0,0 0,0 0,0 0,0
yunhsuL vNnrNantuusNrh cuklbuGN 0,0 0,0 0,0 0,0 0,0 0,0
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— Ywuwnwnpnnltph — Jwuwwpnnlbph — JwuwnwpnnlObph — Jwuwwpnnlbnph
ey ey c c
g e g e g = g e
: e : 33 : 22 | é ¥
2 = 2 gz 2 = 2 gz
S S C S S C S S C S S C
2 v33 2 VEE] 2 V33 2 v33
3 vVZEE 3 VEE 3 vVZEE 3 vVZE
= 3 3 = 3 3 = 3 3 = 3 3
a 55 a 55 a 55 a 55
S S S S
[« 8 [« 8 [« 8 [« 8
16 17 18 19 20 21 22 23
puAUUGBLL DUuUGN 718475 718475 5000,0 5000,0( 9889,0 9889,0( 22955,0 22 955,0
wyn pyntd
LUuBUSHhY SUUGN 718475 718475 140,0 140,0( 9284,0 9284,01 99550 9955,0
wjn pyntd
QUBUShY SPULUDENSLEN 718475 718475 0,0 0,0 0,0 0,0 0,0 0,0
wyn pyntd
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 718475 718475 0,0 0,0 0,0 0,0 0,0 0,0
wyn pyntd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpokn 718475 71847,5 0,0 0,0 0,0 0,0 0,0 0,0
umnPruuvLeLGEMh ALUUL G4 ounu3nt@3NtuueNrh 0,0 0,0 140,0 140,0( 9284,0 9284,01 9955,0 9955,0
Jysunruuu oukuuenN
wyn pyntd
Uwpwbplbbph d6rppbpnid 0,0 0,0 140,0 140,0 0,0 0,0 160,0 160,0
wjn pyntd
Qnyp, gpuubljuywiht wwpwbpbtp L Gnuetp 0,0 0,0 140,0 140,0 0,0 0,0 0,0 0,0
wjn pynd
- gnijp L uwppwynpniiltn 0,0 0,0 140,0 140,0 0,0 0,0 0,0 0,0
Uj| Swfuubn 0,0 0,0 0,0 0,0 0,0 0,0 160,0 160,0
Uy, Swfuukn 0,0 0,0 0,0 0,0 9284,0 9284,01 9795,0 9795,0
wjn pynd
Uj| SwrwntpntGbbph dbrppbndwl dwiuubp 0,0 0,0 0,0 0,0] 9284,0 9284,0( 97950 9795,0
LunhsulL cuuer 0,0 0,0 4 860,0 4 860,0 605,0 605,0( 13 000,0 13 000,0
wjn pyntd




€ve

Unyntuwly 11-05 (pOnwdklp 6 £9)

16 17 18 19 20 21 22 23

yunhsul veNANPNFULENHh SUuUGN 0,0 0,0 1946,0 1946,0 605,0 605,0( 13 000,0 13 000,0
wjn pynLd

Luluadu{csuansuyuu oukuueN 0,0 0,0 86,0 86,0 0,0 0,0/ 2000,0 2000,0
LUUNhSUL U4sShyuGNh 26NLAGNUUL CUUGH 0,0 0,0 1860,0 1860,0 605,0 605,0( 11 000,0 11 000,0
wyn pyntd

Uuwnptph L uwppwynpniibtph dGrpptndwb dwiuubp 0,0 0,0 1520,0 1520,0 605,0 605,0 0,0 0,0
Spwluwnpuwihb dhongltph dbrpptndwl swiuubp 0,0 0,0 0,0 0,0 0,0 0,0 9000,0 9 000,0
Uj wywinhylbkinph dGrppbpdwl dwiuubkn 0,0 0,0 340,0 340,0 0,0 0,0/ 2000,0 2000,0
yunhsuL vNnrNantuusNrh cuklbuGN 0,0 0,0 29140 29140 0,0 0,0 0,0 0,0
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optlph 7-nn. hnnywény pntobuinwhl swfuutph gnpéwrOwywl nwuwywngiwb 11 fudph 06
GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

{wybiyws N 1

Unyntuwy N 11-06

Unyniuwly 11-06 (pOnwdklp 8 t9)

wyn pYntd puwn dpwanptiph

nuwihbt wewnwywl
Ywnwuwnh
wnbubhywywab
hpwywlwgiwb Snwghn

<wiwfuwphwih0 pwGyh
wowlygniLpjwip
hpwywbwgynn RGwywh
wwwnbbph Yuwrwywndwb
L spwynpnipywb

«BwihnbOEph

nruntdGwuhpnepjwb

MGunwywb wowygnipintl

yGaunpnb» MAUY-hG

Lwiwluwphwihb pwOyh
wowygntpjudp hpwywlwgynn
POwywb wwpwnbbph
Ywrwywndwl L spwynpnipjwil
OJwqgbgdwl npwidwpGnphwhl

Db OJwabgdwl spwghn dpwghp
Glpwiudph
<nnywéh woywaniip gnLiwpp wjn pYntd puwn wjn pYnLd puwn wjn pynLd pun wyr pYNLd puwn
(hwquin z Jwuwwpnnlbph z Ywuwnwnpnnltph = Jwuwwpnnlbph = Jwuwnwpnnbbph
nnwatkpny) = - = o & o g 2

: 33 : 2 | £ 32 : 5

2 gz 2 = 2 gz 2 gz

S S c S S C S S C S S C

2 VEE] 2 v33 2 VEE] 2 v33

3 VEE 3 vVZE 3 VEE 3 vVZE

= 3 3 = 3 3 = 3 3 = 3 3

a 33 a 33 a 33 a 33

2 2 2 2
1 3 4 5 7 9

puAUUGBLL DUuUGN 1706 276,8( 16 130,0 16 130,0( 838 378,8 838 378,8 6999,6 6999,6 499 800,0 499 800,0
wyn pynLd
LUuBUSHhY SUUGN 344 245,2| 16 130,0 16 130,0( 28167,3 28 167,3| 6999,6 6999,6 53 799,9 53799,9
wjn pyntd
untruhNhuutP 6 999,6 0,0 0,0 0,0 0,0 6999,6 6 999,6 0,0 0,0
wjn pynd
QtrOwnynipintGbbnhb L YuwgdwytpwnipintGbtphb wtnpdnn 6 999,6 0,0 0,0 0,0 0,0 69996 6999,6 0,0 0,0
unLpuhnhwbn
QUBUShY SPULUDENSLEN 129 388,6 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 129 388,6 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpotn 129 388,6 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
umnPruuvLeLGEMh ALUUL G4 ounu3nt@3NtuueNrh 207 857,01 16 130,0 16 130,0( 28 167,3 28 167,3 0,0 0,0 53 799,9 53 799,9
Jysunruuu oukuuenN
wjn pynd
Uwpwbplbbph d6rppbpnid 2500,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Qnyp, gnuubljuywiht wwpwbpbtp L Gnuetp 2500,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynd
- gnwutluwywiho wwnwbpbbp L Ginepbp 2 500,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uy, Swiuukn 205 357,01 16 130,0 16 130,0( 28167,3 28 167,3 0,0 0,0 53 799,9 53799,9
wyn pynLd




e

Unyniuwly 11-06 (pOnwdklp 8 t9)

1 2 3 4 5 8 9
W SwrwnipntGOtph dbrpptniwd dwiuubn 205 357,0 16 130,0 16 130,0] 28167,3 28 167,3 0,0 0,0 53 799,9 53 799,9
LUMhSUL SUluUGP 1362 031,6 0,0 0,0] 810211,5 810211,5 0,0 0,0 446 000,1 446 000,1
wjn pyntd

LuMhSUL LGNPAPNFULENh DULUGN 1176 391,6 0,0 0,0] 695971,5 695 971,5 0,0 0,0 374600,1 374 600, 1
wjn pyntd

LUMhSUL chuururNF@3UL ouluutn 589 911,1 0,0 0,0{ 514 901,1 514 901,1 0,0 0,0 64 260,0 64 260,0
LUUAoULESU2NsSULUL ouuusn 1914234 0,0 0,0 382704 38 270,4 0,0 0,0 153153,0 153 153,0
LUMPSUL ULUShULENh 26NRAENUUL DUUGN 395 057,1 0,0 0,0{ 142800,0 142 800,0 0,0 0,0 1571871 157 1871
wjn pyntd

Uwnptnh L uwnpwynpnidGbnh dbrppbniwh dwiuutn 95 070,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
W, wyinhybbph dGrppbndwh dwiuutn 299 987,1 0,0 0,0[ 142800,0 142 800,0 0,0 0,0 1571871 157 1871
LuUMhSUL LNPNGNFULENh DUUGN 185 640,0 0,0 0,0{ 114 240,0 114 240,0 0,0 0,0 71400,0 71400,0
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optlph 7-nn. hnnywény pntobuinwhl swfuutph gnpéwrOwywl nwuwywngiwb 11 fudph 06
GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

wyn pYnLd puwn dpwantiph
MNEnwywb wowygnipntl
2nh wgqwihb dpwaph yEnntswywb inbnlywnywywb
wwwhnynn Gnpdwuwnhy wy wqwbh wnunnunywéntpjwb
Uwydwl wuwwnwbpltn wfuwwnwbpbtnh, hwdiwywngswih
thwuwnwpnph dwydwd yh&wyh dinbhuinnphGgh
wpfuwwnwbpltn guitgh uywuwnyIWG L qupquigdw hpwywlwgdwb Guywunwyny
hpwywlwgdwb Gywunwyny
<nnywéh woywaniip wyn pYnLd puwn wjn pYnLd puwn wyn pYntd puwn wyr pYNLd puwn
— Jwuwwpnnlbnph — Jwuwwpnnlbph — Ywuwnwnpnnltph — Jwuwnwnpnnltph
=3 = = =
o S o =] o =} o =}
: 2z | 2 23 : e : e
S5 % & 5 % & 5 ? & 5 ? &
g S c g S c g S € g S €
5 v 3 % 5 v 3 % 5 v 3 % 5 v 3 %
3 Vv 3 3 Vv 3 3 v 3 3 v 3
3 s 3 s 3 c s 3 c s
= 3 3 = 3 3 = 3 3 = 3 3
a 33 a 33 a 33 a 33
EE EE 23 23
[« 8 [« 8 [« 8 [« 8
10 11 12 13 14 15 16 17
puAUUGBLL DUuUGN 818252 81825,2| 5000,0 5000,0 18 295,0 18 295,0 91 861,6 91 861,6
wyn pynLd
LUuBUSHhY SUUGN 818252 81825,2| 5000,0 5000,0 14 675,0 14 675,0 91 861,6 91 861,6
wjn pyntd
untruhNhuutP 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynd
QtrOwnynipintGbbnhb L YuwgdwytpwnipintGbtphb wtnpdnn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
unLpuhnhwbn
QUBUShY SPULUDENSLEN 0,0 0,0 0,0 0,0 14 675,0 14 675,0 91 861,6 91 861,6
wjn pyntd
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 0,0 0,0 0,0 0,0 14 675,0 14 675,0 91 861,6 91 861,6
wjn pynd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpotn 0,0 0,0 0,0 0,0 14 675,0 14 675,0 91 861,6 91 861,6
umnPruuvLeLGEMh ALUUL G4 ounu3nt@3NtuueNrh 81825,2 81825,2| 5000,0 5000,0 0,0 0,0 0,0 0,0
Jysunruuu oukuuenN
wjn pynd
Uwpwbpltph dGrpptpnid 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Qnyp, gnuubljuywiht wwpwbpbtp L Gnuetp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynd
- gnwutluwywiho wwnwbpbbp L Ginepbp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uy, Swiuukn 818252 81825,2| 5000,0 5000,0 0,0 0,0 0,0 0,0
wyn pynLd
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Unyniuwly 11-06 (pOnwdklp 8 t9)

10 11 12 13 14 15 16 17
W SwrwnipntGOtph dbrpptniwd dwiuubn 81825,2 818252 5000,0 5000,0 0,0 0,0 0,0 0,0
LUMhSUL SUluUGP 0,0 0,0 0,0 0,0 3620,0 3620,0 0,0 0,0
wjn pyntd

LuMhSUL LGNPAPNFULENh DULUGN 0,0 0,0 0,0 0,0 3620,0 3620,0 0,0 0,0
wjn pyntd

LUMhSUL chuururNF@3UL ouluutn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LUUAoULESU2NsSULUL ouuusn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LUMPSUL ULUShULENh 26NRAENUUL DUUGN 0,0 0,0 0,0 0,0 3620,0 3620,0 0,0 0,0
wjn pyntd

Uwnptnh L uwnpwynpnidGbnh dbrppbniwh dwiuutn 0,0 0,0 0,0 0,0 3620,0 3620,0 0,0 0,0
W, wyinhybbph dGrppbndwh dwiuutn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LuUMhSUL LNPNGNFULENh DUUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
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optlph 7-nn. hnnywény pntobuinwhl swfuutph gnpéwrOwywl nwuwywngiwb 11 fudph 06
GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

Unyniuwly 11-06 (pOnwdklp 8 t9)

wyn pYnLd puwn dpwantiph
Ut6 Pphuinwbhwih L gnuupuwih
hrjwbnhwih Uhwgjw| Bwagwynpnipjub {wjwunwbh <wbpwwGwnnegnbned
ynnuhg <wjwuwnwbh <wlpwwbwnnipwip <<32&w#$qi2%ﬁi:tﬂzh «Uwynl opqubwywb wnununhsbtph
Shbwbuwywb oglnipiwb Ywngny dwuhO» Uwnnyhnah ynaytbghwih
unOhwnnphGgh YeGunpnO»
npwdwnnywsé Gdhpwpbpnijwb MNAUY-h Y5EpwghGiwd hpwywbwglwb gnpénnnipinLttGenh
uhongltph hwyyhb hpwywbwgynn << Spwghp wagauwihb épwagpny Gwfuwwnbuywd
Qtnwnpentbhph L Swynt2h dwpgtpnid tuhongwreniiltph hpwywbwgnid
dwpquih qupgqugiwl dpwaghn
<nnywéh woywaniip wyn pYnLd puwn wjn pYnLd puwn wjn pynLd pun
— Ywuwnwnnnbbph — Jwuwnwnnnbtph — Jwuwnwnnnbbph
= = =3
3 o S 3 EL 3 EL
c 23 3 c T c c T c
© S c < c © zZc © z
g c 3 z 3 g S € g S c
5 a9 =5 5 v 35 5 v 35
E Eh 35 E 33 E 33
= » 3 3 £ 3 =
5 £g v e 5 33 5 33
d 55 | Y5 | @ 2
Ve = S S S
[« 8 [« 8
18 19 20 21 22 23 24
puAUUGBLL DUuUGN 32 500,0 15 500,0 17 000,0| 91450,0 91 450,0 4934,6 4934,6
wyn pynLd
LUuBUSHhY SUUGN 32 500,0 15 500,0 17 000,0 0,0 0,0 4934,6 49346
wjn pyntd
untruhNhuutP 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynd
QtrOwnynipintGbbnhb L YuwgdwytpwnipintGbtphb wtnpdnn 0,0 0,0 0,0 0,0 0,0 0,0 0,0
unLpuhnhwbn
QUBUShY SPULUDENSLEN 17 000,0 0,0 17 000,0 0,0 0,0 0,0 0,0
wjn pyntd
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 17 000,0 0,0 17 000,0 0,0 0,0 0,0 0,0
wjn pynd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpotn 17 000,0 0,0 17 000,0 0,0 0,0 0,0 0,0
umnPruuvLeLGEMh ALUUL G4 ounu3nt@3NtuueNrh 15 500,0 15 500,0 0,0 0,0 0,0 4934,6 4934,6
Jysunruuu oukuuenN
wjn pynd
Uwnwbplbbnh dGrppbpnid 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Qnyp, gnuubljuywiht wwpwbpbtp L Gnuetp 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynd
- gnwutluwywiho wwnwbpbbp L Ginepbp 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uy, Swiuukn 15 500,0 15 500,0 0,0 0,0 0,0 4934,6 49346
wyn pynLd




6v¢

Unyniuwly 11-06 (pOnwdklp 8 t9)

18 19 20 21 22 23 24
W SwrwnipntGOtph dbrpptniwd dwiuubn 15 500,0 15 500,0 0,0 0,0 0,0 4934,6 4934,6
LUMhSUL SUluUGP 0,0 0,0 0,0 91450,0 91 450,0 0,0 0,0
wjn pyntd
LuMhSUL LGNPAPNFULENh DULUGN 0,0 0,0 0,0{ 91450,0 91 450,0 0,0 0,0
wjn pyntd
LUMhSUL chuururNF@3UL ouluutn 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LUUAoULESU2NsSULUL ouuusn 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LUMPSUL ULUShULENh 26NRAENUUL DUUGN 0,0 0,0 0,0{ 91450,0 91 450,0 0,0 0,0
wjn pyntd
Uwnptnh L uwnpwynpnidGbnh dbrppbniwh dwiuutn 0,0 0,0 0,0 91450,0 91 450,0 0,0 0,0
W, wyinhybbph dGrppbndwh dwiuutn 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LuUMhSUL LNPNGNFULENh DUUGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0
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optlph 7-nn. hnnywény pntobuinwhl swfuutph gnpéwrOwywl nwuwywngiwb 11 fudph 06

GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

<nnwéh wodwbnidp

wyn pYnLd pun dpwgntinh

OSwnlwdénph onwjh(
wywquwbh
wnunnunyuwéntpjwl
unGhunnphGgh YuywGh
uintnénud L whwgnpénud

wjn pYntd puwn

wyn pynLd

= Yuwnwipnn(tnh
c
g S
: 52
2 gz
S S C
= v33
3 VEE
= 3 3
a 55
S ()
[« 8
25 26
puAUUGBLL DUuUGN 19102,0 19 102,0
wyn pyntd
LUuBUSHhY SUUGN 8352,0 8 352,0
wjn pyntd
untruhNhuutP 0,0 0,0
wjn pynd
QtrOwnynipintGbbnhb L YuwgdwytpwnipintGbtphb wtnpdnn 0,0 0,0
unLpuhnhwbn
QUBUShY SPULUDENSLEN 5852,0 5852,0
wjn pyntd
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 5852,0 5852,0
wjn pynd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpotn 5852,0 5852,0
umnPruuvLeLGEMh ALUUL G4 ounu3nt@3NtuueNrh 2500,0 2500,0
Jysunruuu oukuuenN
wjn pynd
Uwnwbplbbnh dGrppbpnid 2500,0 2500,0
wjn pyntd
Qnyp, gnuubljuywiht wwpwbpbtp L Gnuetp 2500,0 2 500,0
wjn pynd
- gnwutluwywiho wwnwbpbbp L Ginepbp 2500,0 2500,0
Uj| Swfuubn 0,0 0,0

Unyniuwly 11-06 (pOnwdklp 8 t9)



LG€

25 26

U swrwnipintGbbph dbrppbndwl dwiuubp 0,0 0,0
LUuMhSUL oduueP 10 750,0 10 750,0
wjn pyntd

yuMhsuL L6NPNPNEULENh CUUGP 10 750,0 10 750,0
wjn pyntd

LUuNhSUL chuuruNrnkE3UuL SuuutnN 10 750,0 10 750,0
Luluadu{csuansuyuu oukuueN 0,0 0,0
LUuUNhSUL U4ShyuGNh 26NLAGNUUL CUUGH 0,0 0,0
wjn pyntd

Uuwnptph L uwppwynpniiltph drpptndwb dwiuubp 0,0 0,0
W wywinhybbiph d6rppbpdwl wiuubkn 0,0 0,0
yuMhsSuL LNNPNaNtULENPh CULUGP 0,0 0,0

Unyniuwly 11-06 (pOnwdklp 8 t9)



cse

«Lwjwunwbh <wipwwbunnipub 2007 puwywih whunwywb pnupth dwuhb» <4
optlph 7-nn. hnnywény pntobuinwhl Swfuutph gnpéwrOwywl nwuwywngiwb 11 fudph 07
GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

{wybywé N 1
Unyniuwy N 11-07

Unyntuwly 11-07 (pOnwdklp 6 £9)

wyn pYnLd puwn dpwantiph

SGunbuwywb
gnnénLbbneywl
wpyntGwy b Junpowl b Lwfunpn pntobinught tnwphOtph0 nnpwidwnpdwé pinpbunwiht Jwpytph yepwnwnahg
wowlgdwh dnuunpkn
Uhongwrniilsph
wywbwgnid
QOnwukOp hnu g
Glpwiudph
wyn pYntd puwn wyn pYntd pun
<nnyuwsh whywanudp ?QS(;“UT# z Jwuwwpnnbtnh i Jwuwwpnnbbph
wilkpn g o g A
nnwdtinnd) g Ep 3 EY o 9 s o 5 g
5 ez 5 =] 3 2 3a a S 3 €
pu g 3 o 3 a £ =55 a 3 35
S &3 S Lo Sa E=Ya 3 2 2y = a
5 3 3 5 S c 5 c 2 5 c 335
3 3 3 3 L5 e € © 2 ] c S a S S
=3 g3 =3 = 5 & S= = 3 ER=
b= 35 = 2 3, 2 52 3 3 M=
a 5 3 a 5 3 g =3 @ Y =)
NA 2 4 ¥ h
v M
1 2 3 4 5 6 7 9 10 11
puLAUUGLL DUuuGN 1767 044,5| 139 600,0 139 600,0( -513 358,9( -214 200,0( -96 390,0| -46410,0| -42840,0| -6 418,9| -71400,0| -35700,0
wyjn pyntd
LUuBUSHhY SUUGN 2266 623,2| 139 600,0 139 600,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wyn pyntd
QUBUShY SPULUDENSLEN 539 600,0| 139 600,0 139 600,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uy pbpwghy tnpwbudbnpuinwiht y&wnbbn 539 600,0| 139 600,0 139 600,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wyn pyntd
- pOpwghy Gbnpht wy wpwbudbpunuwiht yswnbtn 539 600,0| 139 600,0 139 600,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
unPruuvLeLENh QLUUL 64 ounu3nt@E3NtuueNrh 1727 023,2 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Jsuruuu oukuutenN
wjn pyntd
Uy, Swfuukn 1727 023,2 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uj| SwrwnipntGbbph dbrppbndwl wiuubp 1727 023,2 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LunhsulL cuuer 56 620,2 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
yunhsulL veNANPNFULENHh SUlluGN 37 699,2 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynd
LUUNhSUL U4ShyuGNh 26NLAGNUUL CUUGH 37 699,2 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uwnptph L uwppwynpniibbph drpptpdwl swiuubn 37 699,2 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
yunhsuL vnrNnantuuNrh cukbueN 18 921,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
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1 4 5 6 7 8 9 10 11
dunyudnrniy <ULUD UuQrniue -556 198,9 0,0 0,0] -513358,9| -214 200,0] -96 390,0| -46 410,0| -42840,0( -6 418,9| -71400,0| -35 700,0
wjn pynLd

UbnphG Jwpluwynpnid hwGws dwpniip -556 198,9 0,0 0,0 -513358,9| -214200,0| -96 390,0{ -46 410,0( -42840,0| -6 418,9] -71400,0[ -35 700,0
wjn pyntd

Dhawbuwlwi YugiwytnpwnintGabphG -424 830,0 0,0 0,0] -381990,0] -214 200,0| -96 390,0 0,0 0,0 0,0[ -71400,0 0,0
Ns Phiwbuwlul GugiwysnpuwnipntGanho -131368,9 0,0 0,0] -131368,9 0,0 0,0] -46410,0| -42840,0| -6418,9 0,0] -35700,0
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wyn pYntd puwn dpwgntinh
{wiwfuwphwih0 pwGyh UUL wrwywnpnipwb
{wjwuwnwbnid thnpn b <wiwpfuwnhwihb pwbyh wowygnipjwdp wouwygnipjwip hpwywbwgynn
tuhohl wowlygnLpjwip hpwywbwgynn Lwjwunwbh
abrOwnywuwnhpnipwl hpwywGwgynn Ownuwnbpynjw <wbnpwwbtwnnipwln
wEnwywb wowygnipjwl QtrGwnynieyntbbtph GGpnpnudbtnh L npwdwnnynn «<{wqunwijuyh
opwaghp hayntpwwnnph dpwghp wpunwhwOiwb fjupwbdwb dwpunwhpwybp»
Gnupnpn Spwighn nnwdwzbnphuhl' dwfuutin
wyn pYntd puwn wjn pYntd puwn wjn pYntd puwnn wjn pYntd puwnn
<nnyuwsh whywanudp — Jwuwnwpnnbbph — Jwuwwpnnbtnh — Ywuwnwnpnnltph — Jwuwwpnnltph
2 | s 2| 2 - : 23 2 23
ES) c3S8S & 0 cE® 0 = g ES) = g
=] 53 z = 83¢z = cE = =] cE =
S S 3 ng c S 53 & S 33 S 33
5 35 5 S £ 5 5
=} =333 b=} 32 3 =} =S =} =S
3 352 5 3 35 5 3 33 3 33
S S35 S £S5 3 S 53 S S3
s v 3 Y Y
12 13 14 15 16 17 18 19
puLNUUGLE SUUGP 400 000,0 400 000,0( 149618,7 149 618,7| 384 524,7 384 5247 1249 500,0 1249 500,0
wyjn pyntd
puEUShY DUUGN 400 000,0 400 000,0( 92998,5 92 998,5| 384 524,7 384 5247 1249 500,0 1249 500,0
wyn pyntd
pLEUSHYU SPULUDENPSLEN 400 000,0 400 000,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uj| pbpwghy tnpwludtbpuinwihb yswnbbp 400 000,0 400 000,0 0,0 0,0 0,0 0,0 0,0 0,0
wyn pyntd
- pOpwghy Gepphb wy tnpwbubbpunwiht y&wpokn 400 000,0 400 000,0 0,0 0,0 0,0 0,0 0,0 0,0
unruueuGNh auUUuu 4 ounu3dnk@3ntuuNrh 0,0 0,01 929985 92 998,5| 384 524,7 384 5247 1249 500,0 1249 500,0
Jsuruuu oukuutenN
wjn pyntd
Uj| Swfuubn 0,0 0,01 929985 92 998,5| 384 524,7 384 5247 1249 500,0 1249 500,0
wjn pyntd
Uy, SwrwjntpintGbbph d6rppbndwl dwiuutkin 0,0 0,01 92998,5 92 998,5| 384 524,7 384 5247 1249 500,0 1249 500,0
LunhsulL cuuer 0,0 0,0/ 56620,2 56 620,2 0,0 0,0 0,0 0,0
wjn pyntd
LuMhsSUL veENPNPNtULENh SUUGN 0,0 0,01 37699,2 37 699,2 0,0 0,0 0,0 0,0
wjn pynd
LUUNhSUL U4ShyuGNh 26NLAGNUUL CUUGH 0,0 0,0/ 37699,2 37 699,2 0,0 0,0 0,0 0,0
wjn pyntd
Uuwnptph L uwppwynpniilbph drpptndwd dwiuubp 0,0 0,01 37699,2 37 699,2 0,0 0,0 0,0 0,0
LuMhSUL uNnrNantuuGNrh culuuGN 0,0 0,0/ 18921,0 18 921,0 0,0 0,0 0,0 0,0
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12 13 14 15 16 17 18 19
JunruyudnMniy <UuUusc yurniue 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd
Ltppht Jwpywynpnid® hwlwé dwpnidp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
dhlwluwywb YuwaliwybnpwnipntaGeph 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
N3 hbwbuwywb Yuwagdwytnpwnipintbephl 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
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wjn pYntd puwn dpwgnkinh

«Qwénp» NFJY-h ghowd
Juwnywhb wwhwbgh gény

UnLwnpbp
b oh wodwonud wyn pYntd pun
nnywish waywanudp — Ywuwwpnnltph
=
g I
2 7
[wd] C
=
15 K
3 £
5 3
d g
20 21
puLAUUGLL DUuuGN -42 840,0 -42 840,0
wjn pyntd
LUuBUSHhY SUUGN 0,0 0,0
wjn pyntd
QUBUShY SPULUDENSLEN 0,0 0,0
wjn pyntd
Uj| pbpwghy tnpwludtbpuinwihb yswnbbp 0,0 0,0
wjn pynLd
- pbpwghy Gepph0 wy, Lpwlbudtpunnuwiht yawnbtn 0,0 0,0
unPruuvLeLENh QLUUL 64 ounu3nt@E3NtuueNrh 0,0 0,0
Jsuruuu oukuutenN
wjn pyntd
Uj| Swfuubn 0,0 0,0
wjn pyntd
Uj| SwrwnipntGbbph dbrppbndwl wiuubp 0,0 0,0
LunhsulL cuuer 0,0 0,0
wjn pyntd
yunhsulL veNANPNFULENHh SUlluGN 0,0 0,0
wjn pynd
LUUNhSUL U4ShyuGNh 26NLAGNUUL CUUGH 0,0 0,0
wjn pyntd
Uuwnptph L uwppwynpniilbph drpptndwd dwiuubp 0,0 0,0
yunhsuL vnrNnantuuNrh cukbueN 0,0 0,0

Unyntuwly 11-07 (pOnwdklp 6 £9)



1S€

20 21
JunruyudnMniy <UuUusc yurniue -42 840,0 -42 840,0
wjn pynLd
Lbppht Jwpywdnpnid” hwlwd dwpnudp -42 840,0 -42 840,0
wjn pyntd
Shbwlbuwywb YugdwybpwnientGbeph -42 840,0 -42 840,0
N3 hbwbuwywb Yuwagdwytnpwnipintbephl 0,0 0,0
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